## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LEE SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Cox, Heather Daley, Melinda Ginsberg, Rachel Greig, Anne Hale, Marcy Menefee, Jeremy Seiz, Anne

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE AUGUST 21, 2023, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Biggers, James French, Jasmine Johnson Collins, Alyson

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 6, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0800-1341-531-4)

Ciotti, Ryan Hustedt, Isaac

Fox, Kathleen

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ILT MINI PROFESSIONAL DEVELOPMENT NOVEMBER 28, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Bell, Charlotte

Billington, Leah
Carder, Whitney
Crum, Milena
Davis, Lacy
Grieme, Nathan
Hockenyos, Karen

Hood, Heidi
Johnson, Marissa
Lafountain, Taunja
Mccarthy, Caitlin
Mckneelen, Angela
Riech, Allison
Rogers, Chenoa

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL FASTBRIDGE AND DATA TRAINING ACTIVITIES DECEMBER 12, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2600-1341-531-4)

Austin, Monique Jackson, Tamara Deaton, Jacqueline Rotherham, Pam Gallina, Maria Schukai, Melissa

Hunter, Brooke

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 11, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Durbin, Lori Roark, Heather

Nestler, Tena

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES DECEMBER 4, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-531-4)

Campbell, Melissa Nestler, Tena Durbin, Lori Roark, Heather

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL TEACHER PLANNING ACTIVITIES DECEMBER 14, 2023, \$35.57 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$80.03 EACH: (10-2210-4600-1341-531-4)

Butler, Allory Patterson, Jami Crumrine, Carrie Shively, Lydia

Farthing, Josh

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL TEACHER PLANNING ACTIVITIES DECEMBER 11, 2023, \$35.57 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$80.03 EACH: (10-2210-4600-1341-531-4)

Butler, Allory Patterson, Jami Crumrine, Carrie Shively, Lydia

Farthing, Josh

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES DECEMBER 12 THROUGH DECEMBER 15, 2023, \$32.26 PER HOUR, 15 HOURS FOR A TOTAL OF \$483.90: (10-3700-0000-1243-531-4)

Lamsargis, Kathy

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION JEFFERSON MIDDLE SCHOOL WEB HOURS AUGUST 15, 2023, \$33.88 PER HOUR, 4.5 HOURS FOR A TOTAL OF \$152.46 EACH: (10-2210-0000-1341-564-4)

Craig, Jonathon Gwinn, Melissa

Flanagan, Heather

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOLKIT PROFESSIONAL DEVELOPMENT DECEMBER 11, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Dewitt, Beth Plunkett, Cara Eucker, Hannah Rudin, Rebecca

Meyer, Catherine

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ILT MINI PROFESSIONAL DEVELOPMENT DECEMBER 13, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Bell, Charlotte Mckneelen, Angela Billington, Leah Poss, Nichole Crum, Milena Punke, Lindsay Hays, Robyn Riech, Allison Hood, Heidi Rogers, Chenoa Hunsley-Hunt, Stephanie Schudel, Mark Jones, Erika Schukai, Melissa Kramer, Benjamin Shaon, Spring Mccarthy, Caitlin Vespa, Darci

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING HOURS AUGUST 16 THROUGH DECEMBER 15, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Adeniji, Ademola 5.00 hours \$177.85 Amerson, Megan 1.00 hours 35.57

## Department Of Instruction First Year Teacher Mentoring Hours, \$35.57 Per Hour, cont.

Armbruster, Justin 4.00 hours 14	
AHIDTUSICI, JUSHII 4.00 HOUIS 14	12.28
Baker, Audrey 13.00 hours 46	52.41
Bayless, Shelby 2.75 hours	97.82
Beenenga, Lisa 13.00 hours 46	52.41
Behnke, Joshua 2.00 hours	71.14
Berberet, Abigail 1.00 hours 3	35.57
Biggers, James 13.00 hours 46	52.41
Bishoff, Anne 2.75 hours	97.82
Boarman, Claire 2.00 hours	71.14
Borders, Nate 5.00 hours 17	77.85
Brinkley, Rita 14.25 hours 50	06.87
Brown, Sheryl 8.00 hours 28	34.56
Burton, Emily 6.75 hours 24	10.10
Buske, Nathan 6.00 hours 21	13.42
Butler, Allory 0.75 hours 2	26.68
Carder, Whitney 4.00 hours 14	12.28
Clemons, Meyasha 2.25 hours	30.03
Coble, Bryan 4.00 hours 14	12.28
Coggins, Brittany 5.00 hours 17	77.85
Cook, Kaitlyn 5.25 hours 18	36.74
Cookson, Lelah 19.50 hours 69	93.62
Crow, Cynthia 11.00 hours 39	91.27
Crumrine, Carrie 15.50 hours 55	51.34
Cullen, Kristin 14.00 hours 49	97.98
Cwiertniak, Anita 8.00 hours 28	34.56
Davis, Holly 1.00 hours 3	35.57
Detmers, Erica 5.25 hours 18	36.74
Dockter, Emily 4.25 hours 15	51.17
Eaton, Deborah 2.75 hours	97.82
Enlow, Natalie 6.25 hours 22	22.31
Faloon, Aidan 4.00 hours 14	12.28
Farthing, Josh 0.75 hours 2	26.68
Fitch, Ethan 1.00 hours 3	35.57
Foehner, Whitley 14.00 hours 49	7.98
Gaffney, Lindsey 4.00 hours 14	12.28
Galayda, Grace 4.25 hours 15	51.17
Gallina, Maria 6.50 hours 23	31.21
Garrett, Olivia 4.00 hours 14	12.28

Dept. of Instruction First Year Teacher Mentoring Hours, \$35.57 Per Hour, cont.

Gilbert, Rachel	1.00 hours	35.57
Gilchrese, Tia	1.00 hours	35.57
Ginsberg, Rachel	4.00 hours	142.28
Gizella, Amy	2.50 hours	88.93
Glisson, Alec	2.75 hours	97.82
Gondek, Chelsea	2.25 hours	80.03
Goss, Courtney	1.25 hours	44.46
Grace, Eileen	14.75 hours	524.66
Green, Shelby	6.00 hours	213.42
Grendze, Carmen	20.00 hours	711.40
Groth, Christine	1.00 hours	35.57
Grucza, Jordan	4.00 hours	142.28
Hampton, Bobby	3.00 hours	106.71
Harness, Amanda	24.50 hours	871.47
Hawkins, Jennifer	6.00 hours	213.42
Hawkshaw, Meghan	15.25 hours	542.44
Helton, Rachel	12.25 hours	435.73
Hostetter, Melissa	1.00 hours	35.57
Hubbard, Nikki	8.00 hours	284.56
Hunter, Brooke	8.00 hours	284.56
Ihlenfeldt, Evan	5.00 hours	177.85
Jachino, Rachel	8.50 hours	302.35
Jackson, Ashton	2.75 hours	97.82
Jett, Caleb	2.50 hours	88.93
Johannes, Madison	1.25 hours	44.46
Johnson Collins, Alyson	13.00 hours	462.41
Johnson, Kassandra	8.00 hours	284.56
Kantor, Kyler	8.00 hours	284.56
Kelley, Sarah	4.00 hours	142.28
Kieffer, Shelley	4.00 hours	142.28
Kincaid, Jessica	4.25 hours	151.17
Kirkpatrick, Kody	1.00 hours	35.57
Knox, Abigail	4.75 hours	168.96
Koustas, Madison	4.00 hours	142.28
Kulavic, Tara	10.25 hours	364.59
Lanter, Adam	6.00 hours	213.42
Laub, Jill	20.75 hours	738.08
Layne, Danielle	26.25 hours	933.71
Lessen, Kelsey	5.00 hours	177.85

Dept. of Instruction First Year Teacher Mentoring Hours, \$35.57 Per Hour, cont.

Lin, Christine	0.50 hours	17.79
Love, Brenna	5.25 hours	186.74
Martin, Bailey	5.25 hours	186.74
Martin, James	13.00 hours	462.41
Mccarthy, Caitlin	8.50 hours	302.35
McEuen, Molly	5.00 hours	177.85
McEwen, Ara	1.50 hours	53.36
Mcgill, Virginia	2.00 hours	71.14
Melton, Timothy	13.00 hours	462.41
Meyer, Abbygail	4.00 hours	142.28
Meyer, Heather	5.25 hours	186.74
Miller, Brandon	13.00 hours	462.41
Miller, Claire	3.00 hours	106.71
Milliman, Kathryn	12.25 hours	435.73
Mueller, Cassandra	13.50 hours	480.20
Nelson, Courtney	5.25 hours	186.74
Nika, Anthony	14.00 hours	497.98
Nishimoto, Bethany	4.00 hours	142.28
Pahde, Lori	3.75 hours	133.39
Patterson, Jami	14.50 hours	515.77
Perry, Claudia	4.00 hours	142.28
Peter, Nathan	3.00 hours	106.71
Poppenhouse, Leslie	10.00 hours	355.70
Raymond, Christopher	10.00 hours	355.70
Reed, Jennifer	4.50 hours	160.07
Reynolds, Amanda	1.75 hours	62.25
Rivera, Onya	4.75 hours	168.96
Rosa, Leslie	10.00 hours	355.70
Rotherham, Pam	8.00 hours	284.56
Rothfus, Erin	2.75 hours	97.82
Schurman, Jennifer	4.00 hours	142.28
Selsor, Michelle	9.25 hours	329.02
Sennings, Tricia	1.25 hours	44.46
Sevener, Alayna	4.00 hours	142.28
Shingleton, Cara	10.00 hours	355.70
Shirley, Gabrielle	1.00 hours	35.57
Shively, Lydia	0.75 hours	26.68
Shuster, Nicholas	15.00 hours	533.55
Small, Laura	3.25 hours	115.60
*		

Dept. of Instruction First Year Teacher Mentoring Hours, \$35.57 Per Hour, cont.

Smith, Mckenzie	15.25 hours	542.44
Smith, Melissa	5.25 hours	186.74
Sommer, Dakotah	2.75 hours	97.82
Sperle, Traci	2.50 hours	88.93
Stahr Trimpe, Sarah	31.00 hours	1,102.67
Stanton, Susannah	0.50 hours	17.79
Tarvin, Kandace	6.25 hours	222.31
Vogt, Denise	6.00 hours	213.42
Walters, Amy	1.00 hours	35.57
Welch, Ashley	2.00 hours	71.14
White, Lauren	10.00 hours	355.70
Wolf, Edyth	2.50 hours	88.93
Yockey, Lucille	5.00 hours	177.85
Young, Jennifer	5.25 hours	186.74
Ziemba-Montavon, Tammy	6.75 hours	240.10

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION INCLUSIVE PRACTICES COHORT 2 QUARTERLY MEETING #2 DECEMBER 12, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Armstrong, Dawn	Hurrelbrink, Wendy
Barham, Ashley	Johannes, Madison
Bell, Charlotte	Logsdon, Alicia
Boston, Catherine	Mcguire, Tracy
Cantrall, Cassandra	Mckneelen, Angela
Childers, Tiffany	Nelson, Courtney
Crumrine, Carrie	Patterson, Jami
Davis, Lacy	Rajsky, Heidi
Ethridge-Galloway, Tiffany	Redpath, Sara
Eucker, Hannah	Rodden, Katelynn
Freer, Jordana	Schoedel, William
Fretz, Morgan	Schukai, Melissa
Guikema, Lindsay	Sharpe, Jennifer
Hasquin, Jamie	Tomasko, Kimberly
Havenar, Meri	Walk, Michelle
Hughes, Lindsey	Warren, Lillian

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION JEFFERSON MIDDLE SCHOOL WEB HOURS AUGUST 16, 2023, \$35.57 PER HOUR, 4.5 HOURS FOR A TOTAL OF \$160.07 EACH: (10-2210-0000-1341-564-4)

Craig, Jonathon

Gwinn, Melissa

Flanagan, Heather

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY CO-TEACH PLANNING NOVEMBER 2 THROUGH DECEMBER 7, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Bartletti, Jennifer	3.00 hours	\$106.71
Freer, Jordana	2.00 hours	71.14
Fretz, Morgan	1.00 hours	35.57
Hays, Megan	1.00 hours	35.57
Johannes, Madison	1.00 hours	35.57
Nelson, Courtney	1.00 hours	35.57

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FAIRVIEW CO-TEACH COLLABORATION NOVEMBER 29 THROUGH DECEMBER 13, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Capranica, Amy	3.00 hours	\$106.71
Foster, Carmelita	2.00 hours	71.14
Hustedt, Isaac	5.00 hours	177.85

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PRAISE WITH PURPOSE PROFESSIONAL DEVELOPMENT OCTOBER 30 THROUGH NOVEMBER 27, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-3)

Allender, Jennifer	1.50 hours	\$53.36
Berberet, Jamie	1.50 hours	53.36
Bolt, Anna	1.50 hours	53.36
Dewitt, Beth	1.50 hours	53.36
Divjak, Leann	1.50 hours	53.36
Foehner, Whitley	1.50 hours	53.36
Green, Shelby	1.50 hours	53.36
Ingram, Cristi	1.50 hours	53.36
Israel, April	1.50 hours	53.36
Jordan, Laura	1.50 hours	53.36
Kahl, Lindsay	1.50 hours	53.36

Dept. of Instruction Praise with Purpose Professional Development, \$35.57 Per Hour, cont.

Lenhardt, Kyle	1.50 hours	53.36
Lueking, Mary	1.50 hours	53.36
Maley, Sarah	1.50 hours	53.36
Martin, Colleen	1.50 hours	53.36
Marvel, Andrea	1.50 hours	53.36
Meyer, Catherine	1.50 hours	53.36
Meyer, Heather	1.50 hours	53.36
Phillips, Michelle	1.50 hours	53.36
Plunkett, Cara	1.50 hours	53.36
Purdy, Patricia	1.50 hours	53.36
Rudin, Rebecca	1.50 hours	53.36
Schoppenhorst, Debbie	3.00 hours	106.71
Smith, Melissa	1.50 hours	53.36
Young, Jennifer	1.50 hours	53.36
Zimmers, Layne	1.50 hours	53.36

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FASTBRIDGE TRAINING DECEMBER 5, 2023, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-3)

Almdale, Brooke Mitchell, Elizabeth
Jackson, Krista Schoppenhorst, Debbie
Lanter, Lindsey

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL CULTIVATING GENIUS PROFESSIONAL DEVELOPMENT DECEMBER 5, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Allender, Jennifer	1.50 hours	\$53.36
Crow, Cynthia	1.50 hours	53.36
Freeman, Tina	0.50 hours	17.79
Gibbs, Katie	1.50 hours	53.36
Martin, Colleen	1.50 hours	53.36
Mccarthy, Caitlin	1.50 hours	53.36
Rawls, Nicola	1.50 hours	53.36
Romer, Gina	1.50 hours	53.36
Schatz, Katie	1.50 hours	53.36
Stearns, Katherine	1.50 hours	53.36

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL LITERACY CURRICULUM ADOPTION PROFESSIONAL DEVELOPMENT DECEMBER 6, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0000-1341-564-4)

Anselm, Meghan Holcomb, Beth

Freeman, Tina

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH PROFESSIONAL DEVELOPMENT NOVEMBER 30, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Eaton, Deborah Poe, Sarah

Edwards, Dana

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL SOCIAL STUDIES PROFESSIONAL DEVELOPMENT NOVEMBER 28, 2023, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Bond, Corey Volpert, Andrew Lightfoot, Jeffrey Yoho, Brock

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ESSER AFTER SCHOOL BAND LESSONS OCTOBER 3 THROUGH DECEMBER 5, 2023, \$35.57 PER HOUR: (10-1100-0000-1359-537-4)

Cornell, Mark	22.50 hours	\$800.33
Elshoff, Anne	19.50 hours	693.62
Fenner, Jaylan	22.00 hours	782.54
Rockwell, Jennifer	20.25 hours	720.29
Tiemann, Joseph	20.00 hours	711.40

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION AUTISM TOOL KIT PROFESSIONAL DEVELOPMENT DECEMBER 11, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Cordum, Delaney	1.50 hours	\$31.31 Per Hour	\$46.97
Moore, Corey	1.50 hours	\$62.99 Per Hour	94.49

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION PRAISE WITH PURPOSE PROFESSIONAL DEVELOPMENT NOVEMBER 27, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Rockford, Jean	1.50 hours	\$32.05 Per Hour	\$48.08
Thompson, Christine	1.50 hours	\$16.72 Per Hour	25.08
Van Ryn, Carmilyn	1.50 hours	\$17.86 Per Hour	26.79

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SPRINGFIELD HIGH SCHOOL/TRAVEL BEHIND THE WHEEL DRIVER EDUCATION, \$35.57 PER HOUR (23-24), EFFECTIVE JANUARY 16, 2024: (10-1700-6491-1344-000-0)

Graham, Nathan

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL AFTER SCHOOL DETENTION SUPERVISION ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, EFFECTIVE DECEMBER 4, 2023, \$35.57 PER HOUR (23-24): (10-1900-6116-1341-000-0)

Coleman, Justin

Lynch, Kiersten